NAME
- CLASS SECTION ROLLNO._____

Scanned with CamScanner



r'-

Sanghamitra School

Reading Activity
Name of the Lesson — A short monsoon diary

Read the lesson and answer the questions. |

Q1. One of the most published diaries is- i

Q2. Find a word from the lesson which mean the

same as very sad is - -

Q3. Deathly still in para 1 means

Q4. What did the author describe the hill station as?

Q5. Pick the sentence that has a direct comparison
and name the figure of speech the writer has used.

Q6. Explain the expression —the rain has been
drumming on the corrugated roof.
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sthor has mentioned few flowers names in
3

X7. 00 Write them.
he
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« and hills are suffused with a beautiful
qg.The <Y

+e word in bold means-

Qe The suthor has mentioned the name of a bird.

\iention the name of the birds

A

Q10. A word which means the same as narrow

openings or cracks in rock or wall is memmmmnn,

Ncte: Answer the guestions neatly in the space
provided and submit promptly.

e ———
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Reading Comprehension

Compare &
Cantrast

Objective
% Develops critical reading and thinking skills

of the learners.
& Cultivates and nurtures the love of reading

and learning of the students.

& Activates and reinforces the writing,
grammar, vocabulary, and punctuation
skills of the students.
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Class VIII Sanghamitra School Subject-Science
Remedial Worksheet
Name- Sec- Roll no-

Topics: Le-1: Crop Production, Le-2: Microorganisms Le-3: Coal and Petroleum
Le-4: Force and pressure , Le-5 :Reproduction in animals

Obj: To address the misconceptions in term 1.

I. Read the passage and answer the following questions

The discovery of atmospheric pressure gives the fact that air has weight. The weight of the
atmosphere presses down on the earth’s surface and creates pressure on it. The pressure at
any point exerted by the weight of the air above is called atmospheric pressure.

The atmospheric pressure on the earth’s surface at sea level is one hundred thousand pascal
i.e., 100 K Pa. The atmospheric pressure at a place decreases with an increase in altitude. The
atmospheric pressure at a place is the force exerted by the weight of the air column above
that place. As we go up the length of the air column above us decreases. This means that its
weight and the atmospheric pressure are smaller at higher places than at sea level. If the
pressure of the atmosphere is removed suddenly, our blood vessels and tissues will rupture
due to the pressure of the blood and other fluids inside. Thus, the spacemen also wear special
pressurized suits as in space there is no air.and hence, no air pressure. At the top of a
mountain, some people can feel their ears “popping” due to a decrease in air pressure. The
ears pop to balance the difference in pressure inside and outside the body.

Answer the guestions given below:

i)What is atmospheric pressure?

ii)We know that there is a huge amount of atmospheric pressure on us. But we do not
experience its effect. Why?

iii)\Why do some people feel their ears “popping” at the top of the mountain?

Scanned with CamScanner



Il. Unscramble the words related to crop production and management and write in the

boxes given below.

| B 0 S S
() QO Q
N G 1 R E H T 8§ H
w [ OO O
|2 | T | A G R O N
(i) () ’
vV E R I R
(1

Now using the circled letters, form one word which is an activity carried out in fields, after

maturation of crops. — — — — — — — — —— ——

IV. Complete the Crossword with the help of the clues:-

1o
cl P
IF 5
- 1
BEIE] R
) TC
P

Across
1. Fuels obtained from dead remains of living organisms.

2. A process by which the various constituents of petroleum are separated.
3. A porous black substance obtained from coal.
4. Another name for motor fuel.

Down
5. The substance obtained by carbonisation.

6. Fuel for heavy motor vehicles.
7. A petroleum product used for road surfacing
8. Dead remains of sea animals got converted into it.
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SANGHAMITRA SCHOOL
PRACTICE WORKSHEET

CLASS: Vil SUB: MATHEMATICS
Chapters :Rational Numbers, Exponents , Data Handling , Square roots & Cube roots and

Algebraic Expressions
Objective: Torevise the concepts learnt.

Rubric: e i -
Criteria Marks
Presentation im
Neatness o= im
Submission on Time 1m
Total 5 Marks

Solve the following questions:
1) Rohit mother gave him z4xy® and his father gave him % (5xy’+3). Out of this totzl money

he spent X (10-3xy’) on his birthday party. How much money is left with him?
2) The area of a rectangle is Ib wherel is length and b is breadth. If the length of rectangle
is increased by 5 units and breadth is decreased by 3 units. Find new area of rectangle.
3) Afarmer owned a rectangular piece of land PQRS. He has planned to sell the square-
shaped portion TQRU to his neighbour. The dimensions are shown in the figure below.

(4x + 5(x + y)) units

- R_

sjun (g - xg)

(2x - 3y) units

a) What is the area of the land sold to the neighbour (in square units)?

b) What was the perimeter of the farmer’s land before the sale (in units)?

c) What would be the length of the farmer’s land (side PT) after he sells the square
to his neighbour (in units)?

d) Whatis the area of the farmer's land before the sale (in square units)?

4) Inan experiment, a scientist adds viruses to bacteria in different dishes at 1 PM. Read
the scientist's notes and answer the following questions. .
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Population of bacteria in sach dish at 1 PM = approx. 2° x 10’ Cells.

- Virus A halves the population of bacteria every hE)ur.
- Virus B changes the population of bacteria by 2” times every hour.

- On adding virus C, the number of bacterial cells killed every t hours is N X 4"
where N is the inilial population of bacleria.

a) What is the population of bacteria in each dish at 1 PM in standard form?
b) Each virus has a population of 1/8000 th the population of the bacteria in each dish

Approximately what population of viruses is added to each dish?
c) Approximately how many bacterial cells will there be in Dish A at 7 PM?
d) Which of these is closest to the population of bacteria in Dish B at 3 PM?

e) Approximately how many bacterial cells are killed by 5 PM in Dish C?

5) A father is 26 years older than his son. When the father and his son are both 5 years
Older, the father's age will be thrice that of his son’s. What is the present age of the father?

6) Ravi buys 9300 rubber saplings for his plantation. He wants to plant them in rows and
columns so that there are as many rows as there are columns. He finds that he needs

109 saplings more for this. How many rows/columns of saplings did Ravi plant?
7) Acardis drawn at random from a well shuffled pack of 52 cards. Find the probability of

getting i) red coloured king cards i) aface card iii) spade and diamond cards
iv) together face cards of queen and jack together v) neither a red card nor a king?
8) Sanjuthought of a number. He multiplied the number by itself and subtracted 25 from

the result. He got 2000. What was the number he thought of?
R - S g 2o
9) If k-2k =a, k+Zk =b find b°-a
10) What should be added to (m*~ 10m - 56) to obtain (5m*-36)?

11) Simplify (a)(3b- 6a)+ (30a—15h) (b) (4x*~100)+6(x +5)
(c)39n° (500~ 98) + 26n? (50— 7) (d) 44(p* - 5p® - 24p?) + 11p(p-8)

12) A train travels a distance of 1000 km 400 m in 15 % hours 30 minutes. Find average

speed of the train?
13) What is the least number that must be subtracted from

square?
14) Simplify (i) a* (b” - ¢*) + b? (c* - 2%) + c? (a?— b} (ii) *(xy = 5y°) = y(y*~7) - x(y* -3)

15)IfP=3x*- 7x+5,Q = 7x2—2x-‘6 and R = 8 +9x - 4x° findi) P-R-Q i)Q-(R+P)
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Sanghamitra School
Half-yearly misconception worksheet-2023-2024

Subject-Hindi

Class-VIII

Objective- To address half-yearly exam misconceptions.
LT e Ft taregde gfe 3R 39 o 3R wedt & gaifos agr aheT
I oA 3o} AT
HBAT 16w JTe) HST T JUH Feley UG @1 ¢ & Iqehr S ot hraf i 37 310
& |6 ST T © 3 §X 1S A X Uah ilH ¥ Hehell ¢ |18 dFehles Eamefifas
FEIad] & 1 B IAERTS TASTA & I Heer TRAH Tl 7 Ghelcll T ATER A
FI3HT U & TR 3egiel Hel 9 FAGIT Y S G SIell-gTell, AT
T, HCIRY SeAlel T JATH T |asT aRee tet & a1 T TsehT St & o2 18T 3R Sfae-
SR T &1 Hol [EaTeT T GGl &b STttt hfded #Y 781 & |SeITet & AT &l S@HT
§AIGT I §hdl & 1 99T [ TR Wﬁﬁwmlmﬂgﬁmmﬁ?ﬁ%ﬁ?m
Tl A faeh 3R G & S T@s1 arelr dA1deh s30T |57 I8 a1 fafed &) S o a==
T 31 fohg F1 T HR &, 09 g FAT AT o 39 38 fawg 6 S Rver fees
ST | St RIS 9Tee #deh He]s 3H0e FH1H- U H Hdf TRAA T e Hhel 1 Hehell
¢ |fSie7eh -4 o7 qot gl aaer & o7 fewdr, 3uare 8 § 19 #efsd # U
eI R &l 3EET TG el i ATF GIctT & | TE T31 €6 3N IhSE Blell & 19 & cfeh aTal
TS 341 & 3Heehel SATHR Tofol | BT HBoldll fAelcl o [Siiae & Afe 319! HeT I

gﬂma’rmaﬁﬁv%a@wmmﬁw
() TS EChIes T T Redra ar? ()

(i) IS ST TBAAT FTIMUR Y| (i) HiadT et aTell i B
(iif) TS Teh 1 T FeclT ¢ (iv) el FofTehT =efe] ATl AATa T BT &

(@) TTRIT & Avg A FA-dara e agiy 2 ()

(i) T8 GET ETeAT-GTelT, JFIGETA AT (ii) TE TT BT Heqow e I

(iif) I STaeT-8 Qa7 o Fa17| (iv) T o 39+ AT T FagIT O qRIaTor feha |
(31) STeTeh 312 TeTehY HHT HofoT ST SHBT e ATeT il I ST Hehell &2

(i) 3k TG o AT BT (i) I ATl T SWHT ()
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(i) 3T AT P FAFK (i) IFH o Pl @R

T FRART A ST AHe 7 ()

()FTST T 3T T A T A ¢ (i) FTS 3T HrT H el 767 gre

(i) HST 39 STSHT I I AT & (iv) T ahoq #er ¢

(@ =R Fu 3R FRor ! Caeds afev| deveard e e fawet #f & 3
ey 3o 3w R ()

FUF(A) : aq’ﬂmulstHWQ#MWQ?WﬁWﬁHTWWWI

W(R)m@wmﬁﬁ‘éaﬁ‘aﬁawaﬂmmﬁamdﬁmw?l

. PUF(A)TDE, FROT(R) THT B

i. YT (A)IFTE, FROT(R) TR

. U (A) IR FROT(R) S FET S o] FHROT (R) FHU (A) T HEY ST AT T

v. U (A) (R) IR FRT(A) (R) =T HEY § TUT T (R) FHUF (A) ST TET SATETT FIam
&l

IL. FTCIRT & W& hd e & (ool HY AeghIT F AEAar Ruawasduy &

faf@v) (Table)

. TSR E T U 37 99T U<al 7 ATfiahl(Table) SoET|

V. FRS I5d Tl 3 T fa@a, 8¢ 8 AT (Table)

V. ST Sia= T [0 §9 7 T 1 G # 9 |

My dream is . .

&\ wf
S

NOTE- Answer all questions on the A4 sheet. Draw margins. Draw a line after every answer.
RUBRIC- Content-4M, Presentation-1M, Total -5m

.......................................

W
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Sanghamitra School

Class- VIl Sec: Name', SUB- SOCIAL SCIENCE

Remedial Worksheet based on misconceptions of Half Yearly Exam.

Objective- To address the misconceptions of the topics taught.

Q... Guess the word with the clues given,

a. Courts that resolve cases related to complaints of consumers. C_ _ _ _ _ - G
b. Supreme law-making legislative organ of the government. P_ _ _ _ _ ___ T.

¢. Technique of covering the field with a protective layer. M_ _ _ _ ___ G.

d. Anything that satisfies our needs. R_ _ _ _ _ _ Ei

e. Science of cultivating crops and raising livestock. A_ _ _ _ _ _ _ _ E.

f. State where all religions are treated equally. S_ _ _ _ _ R.

Q.l. Complete the table on the different types of farming by listing the features of each.

Shifting Cultivation | Commercial agriculture | Plantation agriculture Mixed farming

\

Q.lll. Match the following.

A B
1. Coffee and tea a. Rice, Wheat, Maize
2. Jute b. Tall trees
3. Land Use c. Supreme Court
4. Food crops d. Beverage crops
5. Sustainable development e. Golden fibre
6. Shelter belts f. Fundamental Right.
7. Chief Justice of India g. Settlements
8. Cultural and Educational rights. h. Resource Planning

Q.IV. Read the given passage and answer the following questions:

This type of farming is practiced to meet the needs of the farmer’s family. Traditionally, low
levels of technology and household labour are used to produce small output. The farmer
cultivates a small plot of land using simple tools and more labour. A climate with large

number of days with sunshine and fertile soils permit growing of more than one crop .
annually on the same plot. Rice is the main crop. Other crops include wheat, maize, pulses

and oilseeds. It is prevalent in the thickly populated areas of the monsoon regions of south,

southeast and east Asia.
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1, Identify the type of agricultural practice being discussed in the above passage.
2. Give reasons as to why farmers in India practice this type of agricultural practice.
3. What are the climatic requirements for cultivation of wheat and rice?

Q.V. Picture study- Observe the pictures carefully and interpret them.

B. What is the image about? What are the alternate
initiatives?

C. Which type of government does this picture depict? What is
the role of the people in this form of government?

D. Which organ of government would you associate the image
with and what is its function? What are the two types of cases?

E. Under which activity does agriculture fall? What is its
importance?

Q.VI. Answer the following questions in one word.

a. Chairman of NITI Aayog

b. Resources that can be renewed within a short period of time

c. Another name for slash and burn agriculture

d. Beverage crop grown on hilly slopes in Assam ;

e. State which produces 60% of total jute of the world.

f. Cases related to land disputes, issues between tenant and landlord.
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